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Time: 03 Hours      Max. Marks: 80 

 
Note: This paper is of Eighty (80) marks, divided into 
two (02) sections A and B. Attempt the questions 
contained in these sections according to the detailed 
instructions given therein. 
uksV% ;g iz”u i= vLlh ¼80½ vadksa dk gSA tks nks ¼02½ 
[k.Mksa] d rFkk [k esa foHkkftr gSA izR;sd [k.M esa fn;s x;s 
foLr̀r funsZ”kksa ds vuqlkj gh iz”uksa dk gy djuk gSA 
 

SECTION A/ [k.M&d 

(Long Answer Type Questions) (nh?kZ mRrjh; iz”u) 
 

Note: Section 'A' contains five (05) long-answer-type 
questions of fifteen (15) marks each. Learners are 
required to answer any three (03) questions. 
                        (3x15=45) 
uksV% [k.M ^d* esa  ik¡p ¼05½ nh?kZ mRrjksa okys iz”u fn;s x;s 
gSa] izR;sd iz”u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 
f”k{kkfFkZ;ksa dks buesa ls dsoy rhu ¼03½ iz”uksa ds mRrj nsus 
gSaA 
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1. Explain Cost, Cost Accounts and Cost Accounting. 
What is the utility of Cost Accounting to a 
producer? How does it differ from financial 
accounting? 
ykxr] ykxr ys[ks rFkk ykxr ys[kkadu dks le>kb,A 
ykxr ys[kkadu dh ,d mRiknd ds fy, D;k mi;ksfxrk 
gS\ ;g foRrh; ys[kkadu ls fdl izdkj fHkUu gS\ 

2. In a factory 30,000 units were produced in a 
month. Out of which 25,000 units were sold @ 
Rs.12 per unit. In order to produce these units 
materials worth Rs.1,50,000 were consumed and 
direct wages were paid to an extent of Rs.40,000. 
Factory overhead are charged @ Rs.20 per 
hour.500 hours were consumed in producing the 
units. Office overheads are charged @ 20% of 
works cost and selling and distribution overheads 
are charged @ Rs.2.00 per unit sold. Prepare cost 
sheet showing total cost and profit. 
,d dkj[k+kus esa ,d ekg dh vof/k esa 30]000 bdkb;k¡ 
mRikfnr dh xbZA ftlesa ls 25]000 bdkb;ksa dks :0 12 
izfr bdkbZ dh nj ls csp fn;k x;kA bu bdkb;ksa dks 
mRikfnr djus esas :0 1]50]000 dh lkexzh iz;ksx dh xbZ 
rFkk :0 40]000 dh izR;{k et+nwjh iznku dh xbZA 
dkj[kkuk mifjO;; :0 20 izfr?k.Vk dh nj ls fn, 
x,A bdkb;ksa ds mRiknu esa 500 ?k.Vs dk le; yxkA 
dk;kZy; mifjO;; dkj[kkuk ykxr ds 20 izfr”kr Fks 
rFkk foØ; o forj.k mifjO;; :0 2-00 izfr fcØhr 
bdkbZ FksA dqy ykxr o ykHk iznf”kZr djrs gq, ,d 
ykxr i= rS;kj dhft,A 



S-38/BCM-203/ BC-08                  3                              P.T.O. 
 

3. Rohit Constructions made following expenditure 

on a contract of Rs.3,00,000: 

Material issued to contract 50,000 

Plant used for contract 15,000 

Wages incurred  80,000 

Other expenses incurred 5,000 

Cash received on account upto the end of the year 

amounted to Rs.1,28,000 being 80% of the work 

certified. Of the plant and materials charged to 

the contract, plant which cost Rs.3,000 and 

material which cost Rs.2,500 were lost. Plant 

which cost Rs. 2,000 was returned to stores, the 

cost of work done  but uncertified was Rs.1,000 

and materials costing  Rs.2,300 were in hand on 

site. 

Charge 15% depreciation on plant, reserve 1/3 
profit received and prepare Contract Account from 
the above particulars. 
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jksfgr dULVªD”kl us :0 3]00]000 ds ,d Bsds ij 

fuEufyf[kr O;; fd;s& 

 Bsds ds fy, lkexzh fuxZfer  50]000 

 Bsds gsrq iz;qDr Iyk.V   15]000 

 ikfjJfed iznku fd;k   80]000 

 vU; O;; gq,    5]000 

o’kZ ds vUr rd izekf.kr dk;Z ds 80 izfr”kr ds vk/kkj 

ij :0 1]28]000 ud+n bl [kkrs ij izkIr gqvkA Bsds dks 

pktZ fd;s x;s Iyk.V o lkexzh esa ls :0 3]000 dh 

ykxr dk Iyk.V o :0 2]500 ykxr dh lkexzh [kks 

xbZA 31 ekpZ 2016 dks :0 2]000 ykxr dk Iyk.V 

LVkslZ dks ykSVk fn;k x;kA os fd;s x;s dk;Z ftUgsa 

izekf.kr ugha fd;k x;k] dh ykxr :0 1]000 Fkh vkSj 

:0 2]300 ykxr dh lkexzh LFky ij gkFk esa FkhA 

Iyk.V ij 15 izfr”kr ál yxk;k tkuk gSA izkIr ykHk 

dk 1@3 lap; fd;k tkuk gSA mijksDr fooj.k ls Bsdk 

[kkrk rS;kj dhft,A 
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4. Why we reconcile cost accounts with financial 

account? Prepare a reconciliation statement with 

the help of imaginary figures. 

ge ykxr [kkrksa dk foRrh; [kkrksa ls feyku D;ksa djrs 

gSa\ dkYifud la[;kvksa dh lgk;rk ls ,d lek/kku 

fooj.k rS;kj dhft,A 

5. Write short notes on any three of the following- 

(A)   Uniform Costing  

(B)   Cost Control Accounts 

(C) ‘First In First out’ (FIFO) system of Inventory  

valuation  

(D)   Marginal Costing  

fuEu esa ls fdUgha rhu ij laf{kIr fVIif.k;k¡ fyf[k,% 

¼v½  le:i ykxrkdau 

¼c½  ykxr fu;U=.k [kkrs 

¼l½ jgfr;k ewY;kadu dh ^igys vkuk igys tkuk*   

¼QhQks½ iz.kkyh  

¼n½  lhekUr ykxrkdau 
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Section B /  ¼[k.M&[k½ 
(Short Answer Type Questions)  

¼y?kq mRrjksa okys iz”u½ 
Note: Section ‘B’ contains eight (08) short-answer 

type questions of seven (07) marks each learners are 

required to answer any five (05) question only. 

                                                                           (5×7=35)   

uksV% [k.M ^[k* esaa vkB ¼08½ y?kq mRrjksa okys iz”u fn, x;s 

gSa] izR;sd iz”u ds fy, lkr ¼07½ vad fu/kkZfjr gSaA 

f”k{kkfFkZ;ksa dks buesa ls dsoy ik¡p ¼05½ iz”uksa ds mRrj nsus 

gSaA 

1. Differentiate between Cost-Sheet and statement 
of cost. 
ykxr i=d rFkk ykxr fooj.k esa vUrj crkb,A 

2. Differentiate between Direct Expenses and 
Indirect Expenses. 
izR;{k O;; rFkk vizR;{k O;; esa vUrj crkb,A 

3. What is ‘Economic Order Quantity’? How is it 
calculated? 
^ferO;;h vkns”k ek=k* fdls dgrs gSa\ bldh x.kuk dSls 
dh tkrh gS\ 

4. What is inter-process profit in process costing? 
Why is it calculated? 
izfØ;k ys[kkadu esa vUrj&izfØ;k ykHk ls D;k vk”k; gS\ 
bldh x.kuk D;ksa dh tkrh gS\ 
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5. What is idle Time and how should it be treated in 
cost Accounts? 
dk;Zghu le; D;k gS rFkk ykxr ys[kksa esa bldk ys[kk 
fdl izdkj fd;k tkrk gS\ 

6. What is meant by Operating Costing? In Which 
industries is it used? 
ifjpkyu ykxr fof/k ls D;k vfHkizk; gS\ ;g fdu 

m+++|ksxksa esa viukbZ tkrh gS\ 

7. Write a note on Integrated Account. 

,dhdr̀ [kkrksa ij ,d fVIi.kh fyf[k,A 

8. Differentiate between the terms Joint Product and 

By-Product. 

la;qDr mRikn rFkk miksRikn esa varj crkb,A 

 

***** 

 


